Rebecca,

Our comment is as follows regarding item 394 “ Set-Point Temperature Requirements” of the
Draft 1 Test Method. The average of all the thermocouples to achieve £ 1.5°C would require
the freezer to run almost 100% of the time. This obviously would cause the compressors to run
more, use more energy, and thus defeat the purpose of Energy Star.

Please drop this requirement from the test.

Jim Schum

So-Low Environmental
10310 Spartan Dr.
Cincinnati, OH 45215
ph. 513-772-9410

fx. 513-772-0570
jschum@so-low.com



mailto:jschum@so-low.com

